Namae: : Class: Date:

MOCK Final Exam Pre-Cale 11

Multiple Choice
Identify the choice that best completes the statement or answers the question.

. L. Which of the following numbers occurs in the sequence 12, -8, -4, 0,4, .. 7
A 6 . C 24 "
B 3 DS

e 2. The-comman difference in the arithmetic sequence 2, -6, 14, 22 is
B -3 D 38

difference is

A 175 ﬁ =45
B -7 | (D 25
- 4. Which of the given formulas for the general term of the sequence -9, -1, 7, 15,
A 1 =817 C t,=8n-1
(:B/} =8n-17 . D =8

i s Ay et

[ — 2

‘?';A 96 . C 192

B o504 D 26

6. The sum of an arithmetic series where h=-2,=7 andn=151s (i QT 4
A =502.5 C 476.25

: 7 _The.common ratio for the geometric sequence 8, 1, 0.125, 0.015625, .

iﬁl;g,.‘.@) - c ”"*’L’f

i
D g
4. 749 |
8. The 6th term in the sequence — = 1, PINTIRER
A 2401 256
4096 . T 2401
2401 117649
( » 356 | D 4006
9. What is the value of S for the series § — 25, + 72216+ f‘x P o
A 39366 R oN. ) 491 ey
B -13122 , ( D 39368 b

y &
3,...The sum of the series (-5) + (-7) + (—9) + o+ (19 is ﬂ« Oy '\’T‘ “{f\r/"'&gﬁ ¢ [

Y

23, .. .18

i \
J

o )gr_) ;"‘}

161*%

correct?

3 :" '-

v,

e

ib:

3. In the formula for the general term of an arithmetic sequence 1, =7 + (n—~ 1) x (=2.5), the common
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Name: g‘_,) P

i6. What is the sum of the nfinite geometric series o "?
15+ 15(8/9) + 15(8/9)* + 15(8/9)°+ -7 '
N ¢ 133
N
g 12 (o 13:5)
17 S .
11. What is the reference angle for 15° in standard position?
A 2550 el 345%™
B 30 { D 15° ;
AWy
12. What is the reference angle for 200° in staﬂdard posmon‘? SN _
A 100° ¢ C L2057 R T o
B 70° | 110° I o
13. What are the three other angles in standard position that have a reference angle of 54°7
A 99° 144° 234° - € 144°,234°, 324°
B 108°, 162°, 216° SD 126, 234°, 306°

t‘%;; -

14. What is ﬁle exact sine of ~£A?
| A

= Lerinhi §imea
24 % ;
B ]

A U3 | 23

B 13 12

15. The point (40, -9) is on the terminal arm of ZA. Which i is the set of exact primary tri 1g0n0metr1c ratios for

the angle? ‘i f o , e
A= 4 2 MO G L
A smA—ﬁ9 ,cosA-40,tanA——40 . ' VI
40 9 40 3 L T
B smAﬁ41,cosA——4l,ta na=— 5 . _. < {
) 40 9 9 _
C. smA,——M,cosA—m,tanAu %0 :
P 9 40 9 l
L }]_]:,x"m A=y cos A= 41 yfanA =5 o Do
T ‘ / -
5 _ s .



Name:

16. Determine, to the nearest tenth of a centimetre, the two possible lengths of a.

B ' C

34 em A

Diagram not drawn to scale.

A 728 cm and 26.3 cm C 728cmand 55.8cm
Cﬁ 134.3 cm and 26.3 em. D 55.8cmand34.3 cm

17.  Determine, to the nearest tenth of a degree, the two possible measures of /C.

C
44 em
46 cm
B
A
Diagram not drawan to scale.
A 9 andgle | . C.A1616° and 0.4°
B 161.6°and 171° D 9°and 171°

I A




Name:

i8. Determine the measure of x, to the nearest tenth of a degree.

40 cm

18cm 25 cm

Diagram not drawn to scale.

A 256° € 136.3°
B -18.1° D 719°

19, What is the length of x, to the nearest tenth of a metre?

33 m 1€m

52°

Diagram not drawn to scale.

A 277m C 261m
B 218m B 37.6m

20. What is the vertex of y = 7(x + 5)* + 47
A (5,4)
B (4,5




MName:

| T, :_é:’(:_m '(.\‘ }..l:
.. 231. Which graph represents the quadratic fimction d Z% e

A y C y

. : u
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INKING)
LTI ol 1]
" 1] 7 -
22. What are the domain and range of y=Tx~ H?-9?
A Domain: {x|x <-1,x € R} C  Domain: {x|x>7, x € R}
... Range: |y « R} ’ Range: {y|y ¢ R}
B Domain: {xx € R} B Domain: {x|x € R}
(*\.Mx’f{ange: Dly=-9ye R} Range: {y|y <—1,y € R}
23. The vertex of a parabola is located at (=5, 6). If the parabola has a y-intercept of 2317 which quadratic o f
function represents the parabola?
LA ) =957 +6 C flx)=-5x+5"+6

D flx)=9%x-5%-6

TS
;{i o ‘clxg@’



Name:

24. Identify the characteristics of this graph.
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:'“‘-‘«_-,f y-intercept: 10.5
¥ x-intercepts: —3 and —7

e0pens downward
B., vertex: (-5, —2)

{ "y y-intercept: 10.5
‘ “my x-intercepts: —3 and —7
ooy OPENS upward

e

25. What is the fun

e T
e

(A y=x"+4x+4 _w}' i

kY
A

-

BT

Sy axis of symmetry: x = -5

C
D

vertex: (-2, -5)

axis of symmetry: x = -2
y-intercept: 10.5
x-intercepts: -3 and -7
opens upward

vertex: (-5, -2)

axis of symmetry: x = -2
y-intercept: 10.5
x-intercepts: 3 and 7
opens downward

ctlony: Ex +2)* written in standard form?

yex? 0
y=x'+4



' f, .
Name BT ™ A 'w\,
P o 4 B T DT T T v{ L
LN
\-\MQLM:}{ ! \: huﬁ‘%m;‘ﬂ'ﬁ'-ﬁ,m . . q(\»{v

A y=@E+12)-173
B y=(x-12"-115

'l

ey = (x—-12)" - 173
By =(er12)t - 1S

‘r"'"‘;:t}

of the vertex. : .
A maximum at (4.5, - 124) € minimum at (—{24, 4.5)
B maximum at (124, 4.5) D minimum at (4.5, - 124)

28. What are the roots of the quadratic function y= 0 le +3.5x 4+ 67

A 0125 | / C —43951—3
B 4and3 DS

29, What are the roots of the quadratic function y = —6.1x* — 97.6x — 300.47

A -8and0 Ce g )
e b s
B -390.4and3 D 8

30. Factor x* —20x+75 completely., ce oon
LS

A (x 5)(x+15) C (x+35)(x-15)

B (x+5)(x-15) SRR RN {D e 5)(x—15)
31, ?E‘?actor —4x* +68x - 120 completely, - wi{ { r\{ —» / ey vr
’r“*-z_n.,.__ A 41(x 2} (x —~15) C —4(x+2)(xm15)
B 4(x+2)(x+15) D -4(x-2)(x+15)
i PR b - ,-‘2
, 32. Solve —8x* + [20x+432 =0, - S A SRR
}&M~—18 dx=-3 C x=2mdx=—3
% ; _;J\, ar X 4 na x 8
B x=-18andx=3 D x=-l4dandx=24

33. Determine the roots of the quadratic equation ~5x* + 55x = 50.

A x=-10andx=-1 i C xp:_,ﬂ)andx”“l
B x=-50andx=-5 Hﬁ]lu)_ x= 2andx:-51“
7

27. State whether the function y = 4x® — 36x — 43 has a maximum or. mtmmum value an

26. What is the equation of the quadratic function y =x* +24x +29 in vertex form?

d identify the coordinates




Mamze:

34. Find a simplified expression for the perimeter of thi:'é ,shape. }f*\&
Not to scale, ‘L_
i M-8 +uls-d +
45— 8 R T
-
745 — 2408
A 445 8.6 -32 C 12I+4J§+4
C:@zzﬁwawé—lﬁ D 46 +4/3-8-/2
35. Express A 64n1%m " in simplified form.
A 4n’m’ (A1) | Can’n’ (U2)
B 2n3mz(9\/§) i D 2w’ (2 )

36. Simplify 3175 +6/63.
A 9228 C 9+2402

¢ B 33«7 ) D 114
37. Express («/ SNE IH~19 + 7 7) in simplestfornr—...
A 2J19-1947 . C 12 W,,,)
B 243 TBTEN19 247
12 .
38 The non—perrmss:bie value(s) for the rational expressxons s (are)
£r A x¢2 x#—2 C x=z2
i 2«/5 D x+4
Sty o
39. What is — > i simplest form? State any non-permissible values.
2" —15xy-8
5(Zx+y) y Sx-y) oy :
8 P X#E S X F 4 By —C x+8y P XHE S, xE By
S@x+y) oy oS-y oy
x4 8 Trigy FETxE 8y th 7 T8y imi,xi&z
2
40. Simplify 24x 2+ 10Lx + 105.
- ' 9x® +42x +49
8 +15 —8x— 15
A a7 R
,,‘-“‘ B+ 15 \ 8x—15
(P T D57
\ Y,
s

s
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Name:

41.

oo,
e,

42,

43,

44,

45.

46,

o ) . x*+6x x+3 .. )
Express the product Te? 4152127 X35 —3g simplest forim,
A (x2 +6x)(x +3) C x
O (2 15x+27)(x2 —36) (2x —36) (x +6)
SR ; _
S e R R

T T TV T wae S
Express the quotient X lxiod Tyl M simplest form.

2x+1 (x+3)(2x+1)
A x+4 ¢ (x=3)(x+4)
SR 5 =3(ea)
Ll S (x+3)(2x+1)
5 _ . o . x+8 x+5.
When fully simplified, ignoring restrictions on the variable, 2105120 SRR equal to
2¢+13 2x? =21x - 49
262+ 16x+ 32 ()4 4)(x+3)
(x+8)(x+5) P R PR
(2 +0x+20) (2 + Tx 1 12) [T GGG
—2 4 . “\"I“'"f“"-:"'v“'-‘*“= e e e s
7 _ ‘
Simplify _x;__x_%-:g_ State any non-permissible values.
x% —49 a x—7 e [ §
2 o Z(JC - 21) ™. TVH‘;‘)
= + Z\r =17 .
A x_7,x¢_2 . @_w(3m+"mg,x¢i7 <
2{(—x+21)
e -+ ——
v X Gr+14) X F
EBvaluate the expression |8.5 +8(7) | I
A 675 _ (. C 645
B —64.5 DTS

Determine the value of the absolute value expression 5](—8 - (w9))' .

B. 85 : ¢ B sy

s, e
e ST

W A






Hame:

47. The graph of y = |3 +2x+2] s
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| T
— 48, Determine the solution to [6x+9] +2 = 8.
f'/‘—_‘_-‘\\ |
( I\\f *—"—% orx"—“—-g C x=—;orx=—§‘
e ;
B no solution D x= 5
- 48, Whatis the solution to [4x + 8] =--8x + 37
R | S
A x———lzorr— ) C x_H__”I_Z‘
B 5 _ i]_.' i e M\éﬂ~ .
B x—TZ—orx—4 i D Jc“—12 }

10
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5@ Which graph represents the reciprocal of the linear function y=4x-27
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A (-0.2,-2.2) and (2.6,2.6)
B (-2.2,-0.2) and (2.6,2.6)

.\L

€ 22,02 and (-2.6,-2.6)
D (0.2,2.2)and (-2.6,-2.6)

32. Find the coordinates of the point(s) of intersection of the line y = 4x -+ 8 and the quadratic function

¥=—4x? —5x+8.
A (0,8)and (hg, 17)

B (0,0
33. Solve the following system:
y=—0x+9
y=-8x2-9%+9
3 27
A (_2= - 2 )

27 39
B (0%)ad (5 3)

C (2,34

U
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54. The graph of ~5x — 6y <6 is
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56. Which graph represents the solution to the inequality 3x% - 7.2x +2 < 0?
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57. Whlch number llnelepresents the solution set to the mequahty 2xt =T >30T kg
'i.l(;%
A c - T,
Bttt b |- G trnn) b
T =8 4 23 2 21 0 1 2 3 4 5 C5 4 a3 2 a0 1 2 3 4 5
B 3 b
‘xw"/;f——i—,(rf e e S S E Y et )
S5 4 3 210 1 2 3 4 s -5 -4 3 2 -1 6.1 2 3 4 5
58. ‘Which graph represents the solutlon to the inequality 2x* —6x +4 > 0?
A - %
( A ; C
&, ~
Aot e L SRRy W . ' N i L L LN
S5 4 3 2 10 1 2 3 4 s S a2 o0 12 s 4 s
B b
¢ | et F——>
5 S 432 45
i T i ; S :-‘-55
oA 3 AL |
# ok 2 I et E
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MName: :

- 59, Which graph represents the solution to the inequality y < ~5(x +3)% +47

c . S
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MName:

In: A

69. Which quadratic inequality is represented by the graph shown below?

1
s
f
1

i
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] R
i =4
: o
!

-5 8 7 B 5 ] ;

A y>3(a+2)" -7 C y>"—3,‘(x"~.~7)2—2 -
f‘w:%%&ﬂ/>3(x+2)2w7 D y<3(x-7)"-2
“%tq,g,—_nwr/ ‘ g f !

Short Answer
1.

A bouncy ball bounces to % its height when it is dropped on a hard surface.
20 m. ,

2) What height will the ball bounce back up to after the sixth bounce?

b) What is the total distance the ball travels if it bounces indefinitely?

2. Solved—~Ajd+x2 =4,
3. Solve/b+1 =~/b+6-1.

Suppose the ball is dropped from

| Simplify each expression and state any non-permissible values.

4 -5 2 .3
'xzﬁl X244 43 x24+2x-3

5. Solve and check.

~5“—+ 2 =0
x—1 x+1 »

17
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